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Section ‘B’

Answer the following questions. Keep your answers brief and
strictly relevant to questions. 20

State bank of Pakistan has taken expansionary monetary policy by declining
interest rate from 13% to 12.5% show the effects of this policy on GDP,
Employment, inflation and foreign sector.

Why are good and services counted in GDP at market price. Are there any
disadvantages in using in market price to measure production?

Is buying an air-condition an act of consumption or investment in the GDP
accounts, what about purchase of house?

What are the three motives for holding money according to Keynes’s theory of
demand?

Why the tax multiplier [dY/dT=-b/1-b] is negative and why it is smaller in
absolute value than government expenditure multiplier [dY/dG=1/1-b].

Assume the product improves in quality from one year to the next year and its
price rises to reflect this improvement. What happens to the GDP deflator and real
GDP?

How would an increase in a sales tax affect GDP?

Is domestic investment the same as investment done in Pakistan?

What are the factors that LM-curve shift upward and down ward?

0. Some time IS-curve shows positive or negative. Why?

Note: Attempts any two question in this section. 20

Q2. Explain the fiscal policy and its components? When the government apply
contractionary and Expansionary fiscal policy?

Q3. What policies should be introduced by the government to eliminate the frictional
and structural unemployment?

Q4.  Explain the expenditure method of calculating GNP?

Q5. Write short note on any three of the following.

a. Monetary policy
b. Exchange rate
c. Saving function
d. Business cycle
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INSTRUCTIONS:
a) Attempt any five questions. All carry equal marks
b) Programmable Calculators are not allowed.

Q1 (@) “Growth and unemployment are main macroeconomic problems™, discuss the statement
with respect to current global scenario.

Q1 (b) Explain the expenditure method of calculating GNP.-
Q2(a) IfC=200+0.5 Yd. T = Go =40, lo = 100, Find following

1. Equilibrium level for N1
2. Provethat S+ To =lo + Go
3. Find the Value of Multiplier.

Q2 (b) Explain Balanced Budget Multiplicr. (Theoretically & Mathematically)

Q3  Determine the Equilibrium level of NI in three Sector Economy when there are Transler of
Payment. ( assume general three sector model in which disposable mmcome can be obtam
by subtracting the taxes from sum ot net income & TOP | Other usual conditions may
also apply on the modcl. care should taken when driving the national income level at
equilibrium because lack of necessary variable ‘1l lead to undesirable result, also transfer
of payments remain autonomous for your consideration)

Q4 Birielly di.scuss different instruments of fiscal policy.
Q> Derive IS-LM frame work with necessary diagrams.
Qo6 Write short note on any three of following:

a) Government Budget

b) Monetary policy

¢) Saving function
d) Demand - Pull Inflation
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Instruction: ATTEMPT ANY FIVE QUESTIONS, ALL CARRY EQUAL MARKS.

~Ql.(a) Briefly discuss the different macro economic.problems.
& .

(b) Discuss the Income method of calculating GNP. Support your answer with
elaboration of all necessary variables in this context.

()2.(a) Discuss the consumption function C also derive an equatior, for consumption
function.

(b) Calculate the N I (Y) from the following abstracted data:

Co=80, c=MPC=0.7, ;=70
where Y=C+I

Q3.  What is multin*1? Discuss consumption and income multiplier with necessary
e derivation.

Pas viscuss the following situation vwith respect to AD/AS:
i, Above full employment.
ii. Below full .mployment.

" Q5.(a) Explain deficit < inancing and its working.

o1 Define T focurve with necessary diagram.
Q6. W _ite short note on any two of the following. \
N
.t Monetary policy and its instruments
L Unemployment and inflation.
iii. Government budget

v, Cost- push inflation
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cuibnctions: Attempt any five guestions. All questions carry cqual marks.

In a three-sector (household, business and government) model, supposc household
compensation is $760; taxes on household income is $100; consumption spending

17 $560; gross investment is $110; depreciation is $40; and government spending
i K130, :

(» Find GNP, NNP and household saving
(I} What leakage and spending injections are there for this threc-sector model?

Faplain frictional, cyclical and structural unemployment.

) What policies should be introduced by the government to climinate the
frictional and structural unemployment?

2 1 ot down the causes of demand-pull and cost-push inflation. Tixplain with the help
of diagrams.

“V 3V () Drive the multiplier when the MPC is 0.90, 0.80, 0.75 and 0.50. (b) What is the
relationship between the marginal propensity to consume the value of the
multiplier? (¢) Use the multiplier values found in (a) to cstablish what effect a $20
Jdecrease in autonomous spending has upon equilibrium income,

- dentify the instrunients of fiscal policy. And derive the IS curve.

£1N1 Write short notes on any two of the following

(1) Balanced budget multiplicr.

(it) . Benelits of recession

{iii)  'Tools of Monetary policy

(iv) ~ Marginal propensity to consume
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Instructions : Attempt any five questions. All questions carry equal marks.

Q.No.l.(a)‘/\x/hdt is the best measute of economic growth? Nominal GDP or Real
,GDP discuss.
(b)\/ Differentiate between GDP and GNP with the help <)( atleast two

Y

examples. A

Q.No. 2(;@/ Define business cycle and its phdscq with the help of diagram.

Define inflationary and recessionary gap and the full employment
situation in the short run cquilibrium. Hew do they influence the
phascs of business cycle?

QNe3dr”  Discuss the various types of unemployment. How do we calculate
unemployment rate.

QNo.4(g)y  Distinguish between economic growth and economic development.
(57 What is the rational of cconomic planning?

Q.No.5.(a). Why the tax multiplier is greater than 1?
(b). How do we calculate the size of multiplier? If MPS = 0.25, calculate
multiplict.

Q.No.6g).  Explain fiscal policy and its components?
(@Y.  When the government apply contractionary and expansionary fiscal
policy.
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QNo3.

QN4

Q».No.l. -

Q.No.2.

" Instructions : -Attempt any five questions.

Define GDP and use the cirenlar flow model to explain why GDP equals

aggregate expenditure and aggregate income?

Define the inuitiplicr? What is the multiplier effect? What relationship

+ does the MPC bear to the size of the multiplier? The MPS?

QNoS

- Q.No.6.

' '.Der_ive IS and LM curves, combinati(ms of output and intecest rates that

lead to goods market and money market equilibrium.

* What is business cycle? Distinguish among the d1ffercnt theorics of the
: v,-.,busmess cycle..

Deﬁne economic growth, what are thc major causes of economic

growth? .

‘What is meant by the balance of payments? In what way is the balance
- of payment a summaty statement?
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Attempt any five Questions. Each question carries equal Marks.

Define GDP in detail with the help of the Circular Flow of
Expenditure and Income? Depict Diagram?

(a) What are three major Approaches to measure GDP?
(b) Define how to measure Real GDP?

(a)Descﬁbe the types of Exchange Rate Systems?
(b) How the exchange Rates are determined?

Define Inflation and its types? How Government can control inflation
in Pakistan?

(a)Define Macro-economic cquilibrium in short-run and in long run
with the help of graphs? | '
(b) What docs the aggregate demand curve show, what factors change,
and what factors remains same when therc is novement along the
aggregate demand curve?

Describe Investment Curve and Saving Curve? How the real interest
rates are determined?

Differentiatc Between any three of the following:
(a) Depreciation and Devaluation of the currency
(b) Inflationary Gap and Deflationary Gap

(c) Prosperity and Decline in Business Cycle

(d) Full employment and Unemployment
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Attempt any five Questions. Each question carries equal Marks.

Q.l. Define GDP in detail with the help of the Circular Flow of (12)
Expenditure and Income? Depict Diagrain?
Q.2\.’/ | (a) What are three major Approaches to measure GDP? (06)
(b) Define how to measure Real GDP? 06)
~
Q.3. d (a)Descfibe the types of Exchange Rate Systems? (08) o
(b) How the exchange Rates are determined? (04)
Q4.” Define Inflation and its types? How Government can control inflation (12)
' in Pakistan?
Q.S./ (a)Define Macro-economic equ:ilibrium in short-run and in long run (06)

with the help of graphs? ,

(b) What does the aggregate demand curve show, what factors change, (06)
and what factors remains same when there is movement along the

aggregate demand curve?

Q.69 Describe Investment Curve and Saving Curve? How the real interest™ =~ (12)~ -
rates are determined? :

Q7. Differentiate Between any three of the following: (12)
(a)’i)epreciation and Devaluation of the currency
(b Inflationary Gap and Deflationary Gap
(c) Prosperity and Decline in Business Cycle
(d) Full employment and Unemployment
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Max. Marks: 60 .

HINM Please read the foilowing directions carefully. 111111

Directions: The time limit for this exam is threc hours. Please write your full name in CAPITAL LETTERS. If |
see you talking to any other students, I will deduct 20 points and will not accept your excuse (plausible or
implausible). : 2

Answer any two questions from the following questions.
’
Qf (a) Indicate whether these topics fall within the domain of macroeconomics or microeconomics. (6 points)
s (a) the price of gasoline
’ (b} the unemployment rate

(c) national output
(d) the general price level;

) . (e) the wages of teachers

(f) total car production

b)  Identify each of the following as either a positive or a normative statement: (4 points)
{a) The high temperature today was 89 degree
(b) The general price level rose by 4.4 percent last year
(c) Itis too hot today
(d) Inflation eroded living standards last year and should be reduced by government policics.

Q2a) “The equilibrium price of bushel of wheat, which was $3.00 last month, is $3.75 today. The demand curve
t for wheat must have shifted rightward between last month and today. Discuss.” (5 points)

b)  What is the effect on equilibrium price and quantity of the following? Draw diagram to support your
answer. (5 points)

(1) An increase in demand that is exactly equal to the decrease in supply
-~ {ii) An increase in supply.

Q3 a) Assume the market basket contains 10X, 20Y, and 45Z. The current year prices for goods X. Y. and ‘Z are
$1, $4, and $6. respectively. The base year prices are $1, $3, and 30, respectively. What is the CPl in the
current year? (4 points) '

b)  Assume that civilian noninstitutional population = 100 million persons: civilian labor force = 87 million
persons: total population = 240 million persons, unemployed persons = 45 million persons. Using these
data, calculate the following: a) unemployment rate, b) employment rate. (6 points)

h
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SECTION B (40 points)

Answer any four questidns from the following questions.

Ql.a)
b)

Q2.a)

b)

Q3a)

b)

Q4 a)
b)

Q5.a)

b)

Explain what happens to the Aggregate Demand curve if the dollar depreciates relative to other currencies”
(5 points)

Explain the difference between total expenditures and aggregate demand. What are the four components of
total expenditures? (5 points)

Suppose the price level is 132, the quantity demanded of real GDP is $4000 billion, the quantity supplied of
real GDP in the short run is $4000 billion, and the quantity suppiied of real GDP in the long run is $4500
billion. Is the economy in short run equilibrium? Will the price level in the long run equilibrium be greater
than, less than, or equal to 132? Use diagram t6 support your answer (6 points)

If the econorﬁy is self-repulating. what happens if it is in an inflationary gap? {4 points)

Explain: * If expectations are rational and fully correct, the unemployment rate will never diverge from the

natural rate.” (5 points) ~.

What are the two broad tenets of supply-side economics? What is the Laffer Curve, and how does i. ..
to one of these tenets? (5 points)

Give two reasons for macroeconomic instability according to mainstream economists? (4 points)

Describe the monetary rule and explain, using equation of exchange, why monetarists prefer it to
discretionary monetary policy? (6 points)

Suppose that an economy is described by the following equations

C=100+0.5Y4

=100

G=100

(X-M)=100

Where C is consumption expenditures, [ is investment expenditures, G is government expenditures and (X-
M) is net exports. All are measured in billions of dollars. Calculate equilibrium level of national income? (2
points)

Suppose that autonomous consumption is 600 and the marginal propensity to consume is 0.5 (8 points)

~~

i) Write an equation for the consumption curve,

ii} Now write an equation for the saving curve. How are the consumption curve and the saving cu.
rglated?

i)} Sketch a graph to show both the consumption curve aiid the saving curve. Compute the income level at
which saving is zero and show this on your graph.

iv) Why is MPC + MPS always equal to one?
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|N§1.'RUCTION: Attempt all questions.

What is macrocconomicd? Dras cireubin Dose ol maciececonomic actnaty SShat e the ougor ebgectives ot

maceaccononics”!

What iy the maqor difterence Betsseen the tinal ctrpot approsg b b peasuray GDITthe vadue added approach and

the income approach?

Wit is thie ety fng fogae of daesical moded obmasoceconanue cguabbrianm™ Eaplamm swin thes moded does ned
{3t the facts for e dillerent coonomies vory welb whonesate demand decneases
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woab bree g wen thay clledis et GDOP
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Directions:
Attempt any six questions in all. All questxons carry equal marks. The time limit for this
:;exam is three hours

b
’,E

3.

/Q4/Pre01sely how are the APC and the MPC different? Why must the sum of the MPC

Why do national income accountants inclu(‘i‘é:énly final goods in measuring GDP

for a particular year? Why don’t they include the value of the used furniture bought .

and sold?

Explain graphically the determination of the equilibrium GDP. Explain why the
intersection of .the aggregate expenditures schedule and the 45-degree line
determines the equilibrium GDP. '

o

What is the multiplier effect? What relationship does the MPC bear to the size of
the.multiplier? i

and the MPS equal 1?

' What are government’s fiscal policy options for ending demand-pull inflation?.Use

‘the aggregate demand—aggregate supply model to show the impact of these policies
on the price level

What is the difference between a depreciation of the domestic currency and a
devaluation of the domestic currency?

Write short notes on any two of the following:
a) Inflationary Gap ‘
b) Business Cycles

Acceleration Principle

| .
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Answer any four questions from the followlng questlons.

1 .
» f
»
}

QL) Explain what happeos to the Aggrepate Demand curve if the dollar depreciates refative 1o other eurrencics
(5 points) )
b)  Explain the difference between total expenditures and aguregate demand. What are the four componeants af
total expenditures? (5 points)

Q2.a)  Suppose the price level is 132, the quantity demanded of real GDI? is S4000 billion, the quantity supplied of
real GOP m othe shatt tun is 33000 billion, and the quantity supplied of tcal GDP inthe long run is $4500
hillinn. fs the cconomy o short run equibibrinm Wl the price level in the loag sun cquilibnuam be greater .
than, less than, or equal 1o 1322 Use diagram (o suppett your answer (6 points) .

b) I ihe cconomy is self-sepulating, what happens if s moan intlatioaary pap? (4 points)

QYa)  Explain: " If expectations are rational and futly coect, the ancngployiment tate will never diverpe from the
tanual rate,” (S points)
N
b)Y What are the two broad 1cicts of supply-side cconomics™ What is the Laffer Curve, and how dogs it relae 3.
to ane af these tenets? 15 points)

{
~ N . i
Q4 )  Gree twaorensons for ntwcrnecanome osabaloy ooy to rannstiemm econornsts™ (3 pouts) H
b}  Describe the monetary rule and explaw, using equanion of exchanue, why monetasists prefer i to ;
discretionary monctary policy? (6 pomis) !
5.2)  Suppose that an cvenomy is desenbod by the fellowing cquations
3 b freq .
C=100+05Y, ‘
=100
G100
(X-M)-100 ¥
Where €7 connamption expenditures, Dis anscstment espon by, Goas povenment expendhiuces and [ X i)
M) is net cxports. Al are measured w bidbions of dotlars Catoetate equidtibrinn level of pational mceme? (2
points) '
b)Y Suppose it antanamons consumptien o GO0 ard the mzeesal peopruady 1o consume 15 0.5 (8 pounts)
' 3
1) Write an equatign for the consumprion curve Py
1) Now wre an equation fursthe saving curve, How are the consumpiion caeve and the savmy curves N
refated?
i1) Sketch a praph o show both s+ consumpion curve and the sampe curve Conmpuate the mcome level at
which savmn s zero and show this on your gragh
' iv) Why s MPC o MPS always equal to nne?
’
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